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1. Doplňte druhou větu 2 až 5 vhodnými slovy včetně tučně vytištěného výrazu uvedeného 

za první větou tak, aby význam první věty zůstal zachován. Tvar daného výrazu nesmíte 

měnit. Stažený tvar (isn´t, hasn´t atd.) je považován za 1 slovo. 

 

Příklad: 

               It is more difficult to express some feelings than others.                                       easier 

               Some feelings   are easier to express than    others. 

 

 

 

 

 

 

 

 

 

1) The jokes of her husband made her laugh. was 

She ________________________________________________by the jokes of her husband. 

 

2) I really bought the newspaper, but I cannot find it now. remember 

I ___________________________________________the newspaper, but I cannot find it now. 

 

3) Could I borrow your bicycle?  if 

Would it be all right ________________________________________________ your bicycle? 

 

4) This test is harder than I expected.  not 

This test is ________________________________________________ I expected.  

 

5) Our team lost the match because the other team were stronger. as 

Our team lost the match because they _________________________________ the other team. 

 

6) The film last night was really boring. by 

I was ________________________________________________ the film last night.  

 

7) I asked my mom: “What did you study at university?” studied 

I asked my mom ________________________________________________ at university.  

 

8) There were some eggs left after breakfast.  few 

There ________________________________________________eggs left after breakfast.  

 

9) They had only a little money to spend at the supermarket. not 

They __________________________________________money to spend at the supermarket.  
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10) Do not shout at the dog like that!  stop 

Please  ________________________________________________like that! 

 

11) “Get off the bus at the station,” said Peter to Eva. told 

Peter  ________________________________________________ the bus at the station. 

 

12) My new English teacher is so helpful. a 

I have ________________________________________________English teacher. 

 

13) My homework needs checking. someone 

I need ________________________________________________my homework. 

 

14) Sarah has never had a smartphone before. the  

This is ________________________________________________had a smartphone. 

 

15) Joe likes sending photos via WhatsApp, and all his friends do too. so 

Joe likes sending photos via WhatsApp and _________________________________________. 

 

16) What about eating out tonight? we 

________________________________________________out tonight? 

 

17) Smith, the police officer, lives next door.  whose 

The police officer, ________________________________________________, lives next door. 

 

18) Why don't you join a photography club? were 

If ________________________________________________join a photography club.  

 

19) It costs nothing to open a Gmail account. not 

It ________________________________________________to open a Gmail account. 

 

20) I’d rather go to the cinema than stay in.  instead 

Let’s go to the cinema ________________________________________________ in. 
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2. Z daných možností vyberte správnou variantu. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď NEBUDE hodnocena. 

Vaše 

odpověď 

1. Do …… of you have any money I can borrow? 

a) neither  b) either  c) both   d) or 

 

2. Feel free to talk to …… us. 

a) none   b) neither of  c) neither  d) both of 

 

3. Our house is …… as big as Robert’s house. 

a) exactly   b) just   c) slightly  d) near 

 

4. Scientists believe that temperatures are increasing and ….. ice is melting at the poles. 

a) because  b) due   c) since  d) consequently 

 

5. This film is …… funny! I have watched it three times! 

a) much   b) so   c) too   d) enough 

 

6. I wish I …… go to the ZOO with you next week, but I’m going to be busy. 

a) will   b) had   c) could  d) can 

 

7. That’s the shop …… I bought my wedding ring! 

a) when   b) who   c) which  d) where 

 

8. We …… eat either at a pub, or at a restaurant. What would you like to do? 

a) must   b) could  c) have   d) did 

 

9. You …… wear your new suit to the interview so that you look nice. 

a) shouldn’t  b) have  c) should  d) mustn’t 

 

10. There are no vegetarian meals …… the menu. 

a) on   b) from  c) in   d) at 

 

11. We are going on holiday …… spring. 

a) at   b) in   c) on   d) by 

 

12. You can add ..... to ‘comfort’ and ‘ability’ to make their opposites. 

a) un-   b) mis-   c) im-   d) dis- 

 

13. The outdoor performance was called …… due to bad weather. 

a) out  b) up  c) short  d) off 

 

14. A good way of ...... food is keeping it in a fridge. 

a) enduring b) extending  c) prolonging  d) preserving 

 

15. The soup was ...... delicious. 

a) bit   b) absolutely  c) much  d) very 

1. ____ 

 

 

2. ____ 
 

 
3. ____ 

 

 

4. ____ 
 

 

5. ____ 

 
 

6. ____ 
 

 

7. ____ 
 

 

8. ____ 

 
 

 

9. ____ 
 

 

10. ____ 
 

 

11. ____ 
 

 

12. ____ 

 

 

13. ____ 
 

 

 

14. ____ 

 

 

15. ____ 
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16. The plane flew ...... the Atlantic. 

a) along   b) behind  c) above  d) over 

 

17. She missed the bus, …… she had to walk home. 

a) although  b) so   c) unless  d) even 

 

18. ...... I watered the plants, they didn’t grow. 

a) But   b) However  c) Also   d) Although 

 

19. The customer ..... down the offer of a discount and left. 

a) made   b) turned  c) gave     d) came 

 

20. People ...... when they are bored or tired. 

a) sneeze   b) wave  c) clap   d) yawn 

 

21. ‘Generous’ is the opposite of ...... . 

a) mean   b) beautiful  c) nice   d) funny 

 

22. The ship stopped because two passengers had fallen …… . 

a) underground  b) overboard  c) aboard  d) abroad 

 

23. Suburbs are ...... the city centre. 

a) outside  b) in   c) before  d) behind 

 

24. When I was at school we had to learn a poem …… every fortnight.  

a) by heart  b) by ear  c) by mouth  d) by eye 

 

25. The man was ...... in a car accident. 

a) shot   b) succeeded  c) sabotaged  d) injured 

 

26. Chocolate cake is very ...... . 

a) healthy  b) fattening  c) poisonous  d) disgusting 

 

27. ...... is a skilled manual job. 

a) Tailor   b) Lawyer  c) Teacher  d) Optometrist 

 

28. Where is the movie ...... ? 

a) placed   b) simulated  c) set   d) locate 

 

29. John is winning this game of tennis forty, ….. . 

a) zero   b) nil   c) love     d) null 

 

30. The inspector arrested a man and ......  him with murder. 

a) charged  b) proved  c) examined  d) investigated 

 

16. ____ 
 

 

17. ____ 

 

 

18. ____ 
 

 

 

19. ____ 
 

 
 

20. ____ 

 
 

21. ____ 
 

 

 

22. ____ 
 

 

23. ____ 
 

 

24. ____ 
 

 

25. ____ 

 

 

26. ____ 
 

 

27. ____ 
 

 

28. ____ 
 

 

 

 

29. ____ 
 

 

30. ____ 
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3. Přečtěte si pečlivě následující text. Některé řádky jsou bez chyby, v jiných je jedna chyba, protože 

obsahují jedno slovo navíc. Je-li řádek bez chyby, napište na patřičné místo vedle řádku nulu (0). 

Obsahuje-li řádek slovo, které tam nesmí být, napište tento výraz na patřičné místo vedle řádku a 

rovněž jej v textu podtrhněte. Řádky 1 a 2 jsou příklady.   
 

 

The Full Monty (an extract) by Wendy Holden 

 
 

 

1.  A few minutes later, Nathan, Gaz's twelve-year-old son, dropped on to the                 

2.  floor of the men's toilet from the narrow under window high up in the  

3.  wall. Gaz has followed him, resting his foot on his son's shoulder to help         

4.   himself down. Dave was too large to fit through the window was and                   

5.   had to must wait outside in the street. “Just hurry, will you?” called Dave.     

6.  “My feet are freezing.“   “We are doing this for you, Dave,” replied him Gaz.         

7.   Nathan didn't say anything. He was thirsty, hungry and ready for bed.         

8.   What were they doing in a place like this on a Sunday night? Had this     

9.   Gaz forgotten that tomorrow was Monday? Loud and music was coming                                               

10. from inside the Club. Gaz put his hands on his son's shoulders. “Right”,   

11. he has said. “I will wait here. You find Jane and tell her Dave wants to          

12. speak to her outside, all right?”   “Dad, do I have to be?” asked Nathan.  

13. He was afraid of Jane. But Gaz had decided and Nathan knew he had to 

14. no any choice. The noise of the music and the heat from the Club hit Gaz 

15. and Nathan was in the face. The room was in half darkness and for a          

16. one moment it was difficult to see anything. But the stage was brightly  

17. lit. Gaz and Nathan looked towards it and their mouths fell down open                                                      

18. in astonishment. The Chippendales were in the middle of their performance.               

19. They were dancing and go moving their half-naked bodies sexily in   

20. time to the music. All the women who had been standing quietly turned  

21. off in a queue outside the Club were crowding round. But they were       

22. not quiet now. They all wanted to get as near as possible reason to the  

half-naked men on the stage.  

 

 

 

 

 

 

 

1. _______0________ 

2. ______under______ 

3. ________________ 

4. ________________ 

5. ________________ 

6. ________________ 

7. ________________ 

8. ________________ 

9. ________________ 

10. _______________ 

11. _______________ 

12. _______________ 

13. _______________ 

14. _______________ 

15. _______________ 

16. _______________ 

17. _______________ 

18. _______________ 

19. _______________ 

20. _______________ 

21. _______________ 

22. _______________ 
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4. Ze čtyř možností vyberte jedinou správnou. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď NEBUDE hodnocena. 

Vaše 

odpověď 

 

1) William Shakespeare did NOT write … 

a) Henry IV 

b) Richard III 

c) King Lear 

d) Tristan and Isolde 

 

2) Big Brother can be found in … 

a) Nineteen Eighty-Four by George Orwell 

b) Big Friendly Giant by Roald Dahl 

c) 2001: A Space Odyssey by Arthur C. Clarke 

d) The Dubliners by James Joyce 

 

3) The Beats is the name of a group of American authors including … 

a) N. Mailer and J. Heller 

b) W. Whitman and T. S. Eliot 

c) A. Ginsberg and J. Kerouac 

d) R. Frost and E. Pound 

 

4) "It is a truth universally acknowledged, that a single man in possession of a good 

fortune, must be in want of a wife." This quotation is taken from … 

a) Oliver Twist by Charles Dickens 

b) Pride and Prejudice by Jane Austen 

c) The Picture of Dorian Gray by Oscar Wilde 

d) Lucky Jim by Kingsley Amis 

 

5) Dwight D. Eisenhower was … 

a) a Scottish religious thinker 

b) a famous American sportsman 

c) the American President in the 1950s 

d) the British Prime Minister in 1959-1963 

 

6) The Raven by E. A. Poe is … 

a) a novel 

b) a comedy 

c) a poem 

d) a short story 

 

 

 

 

 

1. ____ 

 

 

 

 
2. ____ 

 

 

 

 

3. ____ 

 

 

 

 

 

4. ____ 

 
 

 

 

 
 

 

5. ____ 
 

 

 

 

 

6. ____ 
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7) Charles Dickens lived during the reign of … 

a) King Richard the Lionheart 

b) Queen Victoria 

c) Queen Elizabeth I 

d) Oliver Cromwell 

 

8) The capital of Scotland is … 

a) Glasgow 

b) Belfast 

c) Edinburgh 

d) Cardiff 

 

9) Which countries fought in the Falklands War? 

a) Argentina and the United Kingdom 

b) The USA and Mexico 

c) The United Kingdom and India 

d) Canada and the USA 

 

10) Florence Nightingale became famous for her activity in the field of … 

a) art 

b) foreign policy of Great Britain 

c) Feminism 

d) health service and charity 

11) The man arrested for the assassination of President Kennedy was … 

a) Lee Harvey Oswald 

b) Al Capone 

c) O. J. Simpson 

d) J. Edgar Hoover 

 

12) The author of the draft of the Declaration of Independence was … 

a) George Washington 

b) John F. Kennedy 

c) Abraham Lincoln 

d) Thomas Jefferson 

 

13) Wearing green clothing or accessories is associated with celebrating … 

a) Thanksgiving Day 

b) Boxing Day 

c) Saint Patrick’s Day 

d) Halloween 

 

 

 

 

7. ____ 

 

 

 

 

 

8. ____ 

 

 

 
 

 

9. ____ 

 

 

 

 

 

10. ____ 

 

 

 
 

 

 

11. ____ 

 

 

 
 

12. ____ 

 

 

 

 

 

13. ____ 
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14) Which of these are awarded in the United Kingdom?  

a) Academy Awards 

b) BAFTA Awards 

c) Emmy Awards 

d) Grammy Awards 

 

15) Which is the largest lake in the British Isles? 

a) Great Slave Lake 

b) Loch Ness 

c) Loch Neagh 

d) Lake Erie 

 

16) The original inhabitants of New Zealand are called … 

a) The Maoris 

b) The Indians 

c) The Inuit 

d) The Aborigines 

 

17) Where is Perth situated? 

a) in Alaska 

b) on the eastern coast of Australia 

c) on the western coast of Australia 

d) in the south of New Zealand 

 

18) The shamrock is the emblem of … 

a) Ireland 

b) Australia 

c) Canada 

d) The USA 

 

19)  Who became the British Prime Minister after the Brexit referendum? 

a) Gordon Brown 

b) Theresa May 

c) David Cameron 

d) Tony Blair 

 

20) Which of these has never been a British colony? 

a) Nigeria 

b) India 

c) Brazil 

d) Australia 

 

 

14. ____ 

 

 

 

 

 

15. ____ 

 

 

 

 

 

16. ____ 

 
 

 

 

17. ____ 

 

 

 
 

 

18. ____ 

 

 

 
 

 

19. ____ 

 

 

 

 

20. ____ 
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2. Z daných možností vyberte správnou variantu. Písmeno správné odpovědi zaneste do  

sloupce vpravo ke správnému číslu. Jiná odpověď nebude hodnocena. 

60b 

 

 

1. Do …… of you have any money I can borrow? 

a) neither  b) either c) both  d) or  

     

2. Feel free to talk to …… us. 

a) none  b) neither of c) neither d) both of     

 

3. Our house is …… as big as Robert’s house. 

a) exactly  b) just  c) slightly d) near      

 

4. Scientists believe that temperatures are increasing and ….. ice is melting at the poles. 

a) because b) due  c) since d) consequently    

 

5. This film is …… funny! I have watched it three times! 

a) much  b) so  c) too  d) enough     

 

6. I wish I …… go to the ZOO with you next week, but I’m going to be busy. 

a) will  b) had  c) could d) can      

 

7. That’s the shop …… I bought my wedding ring! 

a) when  b) who  c) which d) where     

 

8. We …… eat either at a pub, or at a restaurant. What would you like to do? 

a) must  b) could c) have  d) did      

 

9. You …… wear your new suit to the interview so that you look nice. 

a) shouldn’t b) have c) should d) mustn’t     

 

10. There are no vegetarian meals …… the menu. 

a) on  b) from c) in  d) at      

 

11. We are going on holiday …… spring. 

a) at  b) in  c) on  d) by      

 

12. You can add ..... to ‘comfort’ and ‘ability’ to make their opposites. 

a) un-  b) mis-  c) im-  d) dis-      

 

13. The outdoor performance was called …… due to bad weather. 

a) out  b) up      c) short  d) off  

    

14. A good way of ….. food is keeping it in a fridge. 

a) enduring b) extending   c) prolonging d) preserving  

 

15. The soup was ...... delicious. 

a) bit  b) absolutely c) much d) very   

 

1. B 
 

 

 

2. D 

 
3. B 

 
 

4. D 
 

 

5. B 

 
 

6. C 
 

 

7. D 
 

 

 

8. B 

 
9. C 

 
 

 

10. A 
 

 

11. B 
 

 

12. D 
 

 

 

 

13. D 
 

 

14. D 
 

 

 

15. B 
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16. The plane flew ...... the Atlantic. 

a) along  b) behind c) above d) over     

 

17. She missed the bus, ...... she had to walk home. 

a) although b) so  c) unless d) even     

 

18. ...... I watered the plants, they didn’t grow. 

a) But  b) However c) Also  d) Although     

 

19. The customer ….. down the offer of a discount and left. 

a) made  b) turned c) gave   d) came     

 

20. People ...... when they are bored or tired. 

a) sneeze  b) wave c) clap  d) yawn     

 

21. ‘Generous’ is the opposite of ...... . 

a) mean  b) beautiful c) nice  d) funny     

 

22. The ship stopped because two passengers had fallen ……. . 

a) underground     b) overboard        c) aboard           d) abroad   

 

23. Suburbs are ...... the city centre. 

a) outside b) in  c) before d) behind     

 

24. When I was at school we had to learn a poem ….. every fortnight. 

a) by heart b) by ear c) by mouth d) by eye     

 

25. The man was ...... in a car accident. 

a) shot  b) succeeded c) sabotaged d) injured     

 

26. Chocolate cake is very ...... . 

a) healthy b) fattening c) poisonous d) disgusting     

 

27. ...... is a skilled manual job. 

a) Tailor  b) Lawyer c) Teacher d) Optometrist  

   

28. Where is the movie ...... ? 

a) placed  b) simulated c) set  d) locate     

 

29. John is winning this game of tennis forty, …… . 

a) zero  b) nil  c) love  d) null     

 

30. The inspector arrested a man and ......  him with murder. 

a) charged b) proved c) examined d) investigated  

 

 

16. D 
 

 

17. B 
 

 
 

18. D 
 

 

19. B 
 

 

20. D 
 

 

21. A 
 

 

 

22. B 
 

 

23. A 
 

 

24. A 
 

 

25. D 

 

 

26. B 
 

 

 

27. A 
 

 

28. C 
 

 

29. C 
 

 

30. A 
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3. Přečtěte si pečlivě následující text. Některé řádky jsou bez chyby, v jiných je jedna chyba, protože 

obsahují jedno slovo navíc. Je-li řádek bez chyby, napište na patřičné místo vedle řádku nulu (0). 

Obsahuje-li řádek slovo, které tam nesmí být, napište tento výraz na patřičné místo vedle řádku a 

rovněž jej v textu podtrhněte. Řádky 1 a 2 jsou příklady.   

The Full Monty (an extract) by Wendy Holden 

 

 

1.  A few minutes later, Nathan, Gaz's twelve-year-old son, dropped on to the                 

2.  floor of the men's toilet from the narrow under window high up in the  

3.  wall. Gaz has followed him, resting his foot on his son's shoulder to help         

4.   himself down. Dave was too large to fit through the window was and                   

5.   had to must wait outside in the street. “Just hurry, will you?” called Dave.     

6.  “My feet are freezing.”   “We are doing this for you, Dave,” replied him Gaz.         

7.   Nathan didn't say anything. He was thirsty, hungry and ready for bed.         

8.   What were they doing in a place like this on a Sunday night? Had this     

9.   Gaz forgotten that tomorrow was Monday? Loud and music was coming                                               

10. from inside the Club. Gaz put his hands on his son's shoulders. “Right”,   

11. he has said. “I will wait here. You find Jane and tell her Dave wants to          

12. speak to her outside, all right?”   “Dad, do I have to be?” asked Nathan.  

13. He was afraid of Jane. But Gaz had decided and Nathan knew he had to 

14. no any choice. The noise of the music and the heat from the Club hit Gaz 

15. and Nathan was in the face. The room was in half darkness and for a          

16. one moment it was difficult to see anything. But the stage was brightly  

17. lit. Gaz and Nathan looked towards it and their mouths fell down open                                                      

18. in astonishment. The Chippendales were in the middle of their performance.               

19. They were dancing and go moving their half-naked bodies sexily in   

20. time to the music. All the women who had been standing quietly turned    

21. off in a queue outside the Club were crowding round. But they were       

22. not quiet now. They all wanted to get as near as possible reason to the  

half-naked men on the stage.  

 

 

 

 

 

40 b. 

 

1. _______0________ 

2. ______under_____ 

3. ______has_______ 

4. ______was_______ 

5. ______must______ 

6. ______him_______ 

7. _______0________ 

8. ______this_______ 

9. ______and_______ 

10. ______0________ 

11. ______has______ 

12. ______be_______ 

13. ______to_______ 

14. ______any______ 

15. ______was______ 

16. ______one______ 

17. ______down____ 

18. _______0_______ 

19. ______go_______ 

20. _____turned_____ 

21. ______off_______ 

22. _____reason_____ 
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4. Ze čtyř možností vyberte jedinou správnou. Písmeno správné odpovědi zaneste do 

sloupce vpravo ke správnému číslu. Jiná odpověď nebude hodnocena. 

40 b 

1) William Shakespeare did NOT write … 

a) Henry IV 

b) Richard III 

c) King Lear 

d) Tristan and Isolde 

 

2) Big Brother can be found in … 

a) Nineteen Eighty-Four by George Orwell 

b) Big Friendly Giant by Roald Dahl 

c) 2001: A Space Odyssey by Arthur C. Clarke 

d) The Dubliners by James Joyce 

 

3) The Beats is the name of a group of American authors including … 

a) N. Mailer and J. Heller 

b) W. Whitman and T. S. Eliot 

c) A. Ginsberg and J. Kerouac 

d) R. Frost and E. Pound 

 

4) "It is a truth universally acknowledged, that a single man in possession of a good 

fortune, must be in want of a wife." This quotation is taken from 

a) Oliver Twist by Charles Dickens 

b) Pride and Prejudice by Jane Austen 

c) The Picture of Dorian Gray by Oscar Wilde 

d) Lucky Jim by Kingsley Amis 

 

5) Dwight D. Eisenhower was … 

a) a Scottish religious thinker 

b) a famous American sportsman 

c) the American President in the 1950s 

d) the British Prime Minister in 1959-1963 

 

6) The Raven by E. A. Poe is … 

a) a novel 

b) a comedy 

c) a poem 

d) a short story 

 

 

 

 

 

 

1. D 

 

 
 

 

 

 

2. A 

 

 
 

 

3. C 

 

 
 

 

 

 

 

4. B 

 

 

 

 

 

5. C 
 

 

 

 

 

 

6. C 
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7) Charles Dickens lived during the reign of … 

a) King Richard the Lionheart 

b) Queen Victoria 

c) Queen Elizabeth I 

d) Oliver Cromwell 

 

8) The capital of Scotland is … 

a) Glasgow 

b) Belfast 

c) Edinburgh 

d) Cardiff 

 

9) Which countries fought in the Falklands War? 

a) Argentina and the United Kingdom 

b) The USA and Mexico 

c) The United Kingdom and India 

d) Canada and the USA 

 

10) Florence Nightingale became famous for her activity in the field of … 

a) art 

b) foreign policy of Great Britain 

c) Feminism 

d) health service and charity 

11) The man arrested for the assassination of President Kennedy was … 

a) Lee Harvey Oswald 

b) Al Capone 

c) O. J. Simpson 

d) J. Edgar Hoover 

 

12) The author of the draft of the Declaration of Independence was … 

a) George Washington 

b) John F. Kennedy 

c) Abraham Lincoln 

d) Thomas Jefferson 

 

13) Wearing green clothing or accessories is associated with celebrating … 

a) Thanksgiving Day 

b) Boxing Day 

c) Saint Patrick’s Day 

d) Halloween 
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14) Which of these are awarded in the United Kingdom?  

a) Academy Awards 

b) BAFTA Awards 

c) Emmy Awards 

d) Grammy Awards 

 

15) Which is the largest lake in the British Isles? 

a) Great Slave Lake 

b) Loch Ness 

c) Loch Neagh 

d) Lake Erie 

 

16) The original inhabitants of New Zealand are called … 

a) The Maoris 

b) The Indians 

c) The Inuit 

d) The Aborigines 

 

17) Where is Perth situated? 

a) in Alaska 

b) on the eastern coast of Australia 

c) on the western coast of Australia 

d) in the south of New Zealand 

 

18) The shamrock is the emblem of … 

a) Ireland 

b) Australia 

c) Canada 

d) The USA 

 

19)  Who became the British Prime Minister after the Brexit referendum? 

a) Gordon Brown 

b) Theresa May 

c) David Cameron 

d) Tony Blair 

 

20) Which of these has never been a British colony? 

a) Nigeria 

b) India 

c) Brazil 

d) Australia 
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Bodové hodnocení: 

Část 1 

- Správná odpověď max. 3 body 

- Max. 60 bodů 

Část 2 

- Správná odpověď 2 body 

- Max. 60 bodů 

Část 3 

- Správná odpověď 2 body 

- Max. 40 bodů 

Část 4   

- Správná odpověď 2 body 

- Max. 40 bodů 

 

 


